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+ N 1+2 =3

- au 2-3=-1

* o 2*3 =6

/ s 10/3 = 3.3333
% QTR IpITGRIL Y 10%3 =1

-- aamaq 1 i=1; i--; udi=0
++ iy 1 i=0; i++; uhi=1
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#include<stdio.h>
#define PI 3.14
main(){

printf("PI = %0.2f",PI);
b
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i=2; i+=3; uh i=5
-= i-=Xx i=i-X i=2; i-=3; uwd i=-1
*= *=x i=i*x i=2; i*=3; u# i=6
/= il=x i=i/x i=12; i/=3; ut i=4
%= i%=x i=i%x i=10; i%=3; uh i=1
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m prntf("2 + 3 = %d\n”,2+3);
m printf("2 — 5 = %d\n"”,2-5);

m printf(*100 / 5 = %d\n”,100/5); +”
m printf("10 / 3 = %0.2f\n",10/3.0); "
m printf(*10 %% 3 = %d\n”,10%3);
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m 10*%5-4 =7 fMuaedld =......... 2nr
m10-3¥2 =7 Muwanedld =......... 2*PT*r
m (10-3)*2 =? Muaedld =, 2*PI*5
m 10%3/5 =7 Muaedld =.........

m 10+5-4%2 =?
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nr2

PI*R2
PI*R*R
PI*5*5
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